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o Nigdl s E FEC £n T 478 2 (A) 4074 (+i4]) (B) 4075 (+E4)
(C) 7755 (At 4]) (D) 111110101101 (=% (E)eA k% 3k
3. TREM TCPIP W eehdii » L% ? (A)d—BERNp T4 B)IPEgH
OSlgEsh @ » B a8 Fxatssrd (C)TCPIP i £ R 214 45w (D) TCPIP
WA %% OSl syiEes B (E) TCP/IP B# TELNET & :
4, HHIPv4 dhareg5%E 27 Class A BN S IBRESTUE S HPME 7
(A)2* (B)2® (C)2"® (D)2** (E)2* '
5. £ O0SIBMHE T » F—BIEEEEBRIE?
(M ERRERE BlaRE C)EHmkR D)xiER BE)EAE
6. PETFBA4EHF) 20 5k 320 x 240 AT  24-bit 2 U AN ETEH T £ MB
| (Mega Bytes) ? (A)32MB (B)51MB (C)85MB (D)255MB (E)320MB
7. FH A M IPVE 2 40 4T EsE 2 (A) IPV6 944835 3% E 85 [Pv4 bz (B) IPV6 #u IPv4
HHOREEAARN T RABE LEE (C)IPVE Ag LAKEA L RES Y
(D) IPVG &y F4ms3 B E Bl & 4 128 st (E) IPVB k& B % 256 fr
8. RER Bk agfEMJE A 300dpi - 4kd63k 5 Hoedx7 Hets B R MR A K 0 Bl ST AEM
WM ER S EES 0 EE?(A)05 £(B)315 % (C)415 % (D)515 % (E)B15 &
0. fRmAE Rt 4 Rk, sArg 1647, B A 63, & — 185 & (sector) T 1L
sk D12 mnd, BRI EEN S %L MB (Mega Bytes) 7
(A) 50.66MB (B) 202.65MB (C) 354.65MB (D) 405.32MB (E) 810.63MB
10. AEBER Y > HEREEA B (P4 Wwww.asia.edu.tw) i & 2 F 22 ¢4 [P Address
 WBREA ? (A) HTTP (B) Router (C) DNS (D) ARP (E) TCP
11. B4Kbps &5 45 B R B R 45554897 3% % /b F 4 & (bps=bits per second) ?
~ (A) 3840K Bytes (B) 64K Bytes (C) 64K bits (D) 480K Bytes (E) 480K bits
12 TR BETARAAMEERLIET?
" (A)C++ (B)VB.Net (C)Java (D)Delphi (E)Pascal
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14, F o742 T AR R B A F RN LIRBE 7
(A) modem (B) gateway (C)node (D) router (E)repeater
15. £ =7t Z(Binary Search)g Mk & 85 693 7] 1~30 P B 17 F L
 ATESRwk®? A2 (B)4 ()6 (D)8 (B)13
16. &JE % 8 & full binary tree » R & 2:F % /018 ? (A)8 (B)14 (C)128 (D)255 (E)256
17. FoMmEAR CHT 55— EH 442 p 7
(A)intp: B)int*p: (C)int**p; (D)int&p: (E)sA L%k
18, FH4d - aHFE## ? (A) Telnet T A %% FTP  (B) SSH =T /i &K% Telnet
(C) SMTP = 8 4% 4 POP3 (D) HTML =T /8 &4k HTTP (E) FTP 7T A k%
TCP
19. FoMTERBAVEE RS ThEE ?
(A)FEiies B)oiEMER CunErl O)FEIO 44 EEEESE
20. F3MTE 2B ¥k & H(LIFO, Last In First Qut) sy Bkt 7
(A)# A (stack) (BM7#l(queue) (C)#Fi(list) (D)yrzzi(array) (E)&#(heap)
21, TR RAEIEER X 0 T EEE AN EE FEE Y
(A)BMP (B)TIF (C)GIF (D)PSD (E)RGB
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23, ACPU Y (& a TR A A AR R BHBIES O ? (A)BSYES
B33 E COuEREREEs O)eREanyiFzs BE)EmE
24 fEZH{TURE—BERERATHEEREAZ O ERBIEHE?
(A) multiprocessing (B) multiuser (C) multitasking (D) multithreading (E) pipeline
25. B A E A 2s MBX T EMAL THRAMIEHEL? (A)-128~+128
(B) -128~ +127 (C)-127~+128 (D) -127~+127 (E)-129~ +128
260 £A— CHRE At Z&intx=1 BETIHEABMTEZGX FTEN2?
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27. AHRE T atb K& aORbab KA aANDD > a'tkk a s NOT(H R A )
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(A) (ab)'=a'h’ (B) a+b'=(a+b)’ (C) (a+b)'=a’b’ (D) (a+b)'=(ab)’ (E)a'b'=a'+b'
28. w TR AMAR EF AR B AWAE X ARTLE > RULEERRATREE
#p? (A)OR (B)XOR (C)NAND (D)AND (E)NOR '
AlB[X
001
011

1101
KIEE

29, FHHENMAEGRN BT 2HUTHEREH? (A)BF 40 569 F 42 & (Abstract
Data Type) (B)#f# (Encapsulation)s] 44 79 64 Tk 5 #0453 (C)ak
(Inheritance) sy 22 X E4 ¢ A (D) A S 38 %) 64 oh 4248 & 4 % (Inheritance)
(E)& 7% (Inheritance) £t % 7 (Polymorphism) T — e4% A

30 UTFA MBS AE TR IEE ? (A) Queue T F R 38 A S35 4 698 5 BB
) (B) Queue T A RBBEMH L 2 B ES (C)k Stack PiE A8 RE A
Push @m#tr a9 851545 % Pop (D) B-Tree £ —#8 4 A Rk F B4 F 2 FHEHE
(E) Binary Search Tree #4934 &3k Z 18 ¥ th AVL Tree 8

=~ B3 ARG 40 4)

1. For tree structures, please answer the following questions.

(a) A binary search tree is the tree that the value in a node is greater than the value in
any node in its left subtree and less than the value in any node in its right subtree.
Draw the binary search tree that results from inserting the following value in this
order: 25, 15, 7, 30, 8, 40, 35. (6%)

(b) Rearrange the tree of (a) to construct the AVL tree. (6%)

(c) Traverse the tree of (a) in postorder? (3%)

(d) Traverse the tree of (b) in preorder? (3%)
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2. Given an array A which contains the following numbers :
40, 99. The bubble sort and Quicksort algorithms are used to sort the array A in

ascending order. Please answer the following questions.

2341662029093419

Array A | A[0] | A[1] | A[2] | A[3] | A[4] | A[5] | A[6] , Al7] I Al8] | A[9] | A[10]

Original | 23 41 | 66 20 2 90 o | 34 19 40 99
data '

Result 2 9 i9 20 23 34 40 41 66 90 99
data l

(a)
(b)

Write down the order of these numbers in the third pass using the bubble sort

algorithm. (5%)

Write down the state of the list when the first recursive call is made in the Quicksort

algorithm using 23 as the split value. (5%)

GERTIE? (6%)

3. BEATIEMCHEAMA -
(a) TaRXioTFHAT  BAh 222X subl » BRI

R Y)

void main(}

#include <stdio.h>
vold subl{int, int);

{int temp; temp=x; X=Yy; y=temp; x=x+5; y=y+5;}

{int x=10, y=20; subl(x.,y); x=x+5; y=y+5; printf("(x, y)=(%d, %d)\n",x,y):}

void subl{int x, int y)

(b) B 4ofE & 4o F FIAFR

TEWNTE T (6%)

BATHEEZA T sub2 AEPITHEREY)

#include <stdio.h>

void sub2(int *, int *);

void main()

{int x=10, y=20; sub2(&x,&y); x=x+5; y=y+5; printf("(x, y)=(%d, %d)\n",x,y);}
void sub2(int *x, int *y)
{int temp; temp="x; x=y; *y=temp; x=x+5; y=y+3;}
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